Therm. | Therm. 2
[30,33]
[87.54] x—32 output x| X * 319
Temperature (B) .
in Fahrenheit émperqture
(A) in Celsius
@
(2)
Therm. | Therm. 2
merge([30,33],[30.5,34.4]) =
[30.5,33]
[87.94] x—32 output x| X *39 )
Temperature (B) .
in Fahrenheit e.mpera.ture
(A) in Celsius
@)
3)
Therm. | Therm. 2
merge([55,59.4],[55,62]) =
[55,59.4]
[87,94] x—32 output <_X x x 5/9
Temperature (B) 155,59.4]
in Fahrenheit Tgmperqture
A) in Celsius
)
(4)
Therm. | Therm. 2
merge([87,91.4],[87,94]) =
[87,91.4]
' [87,9 | 4] x—32 output p x %X 5/9
Temperature (B) .
in Fahrenheit émperqture
A) in Celsius
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